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QUESTION 1

Can the Global Accounting Hierarchy be set as time-dependent? Determine whether this statement is true or false.

A. True
B. False

Correct Answer: A

QUESTION 2

Company needs to load external data from a flat file into SAP HANA. How can you do this?
A. SAP HANA Direct Extractor Connection (DXC)

B. SAP HANA SQL Import statement

C. SAP BusinessObjects Data Services

D. SAP System Landscape Transformation (SLT)

Correct Answer: BC

QUESTION 3

A. SAP Landscape Transformation (SLT)
B. SAP Landscape Directory (SLD)

C. SAP Direct Extractor Connection (DXC)
D. SAP BusinessObjects Data Services

Correct Answer: CD

QUESTION 4

In a calculation view you define a calculated column and set the Calculate Before Aggregation flag. Which of the

following activities is mandatory to activate the view?
A. Mark the column as hidden

B. Set the column type to Attribute

C. Add a new aggregation node

D. Select the aggregation type
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Correct Answer: D

QUESTION 5

The customers and vendors balances of the previous year are carried forward to the new year, but you did NOT perform
the SAPF010 program (Carry Forward Receivables/Payables) manually in accounts receivable or accounts payable.
Why do you NOT need to execute this program?

A. Because balance carryforward was performed for the leading ledger in general ledger.

B. Because balance carryforward was carried out by the Reconcile Universal Journal Entry transaction since the
reconciliation displayed NO error.

C. Because balance carryforward was performed automatically due to postings to the subledgers in the new year.
D. Because balance carryforward was performed automatically when closing the previous year.

Correct Answer: A
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